thar
-

Ratio to ATLAS

1077

13000 GeV pp tt
T T | T T T T I T 17T 7 1T 7T 17 | T T T T T T TT | 9
c
— top . . — 0
= pT (ATLAS semileptonic ttbar) 33
— _] S
— O
N o
— — Nl
S
= 45
— 1o
- .=
L — 0
H Hiry
™
— =
(40)
_ |
— 0
— gm
— !
—  m  ATLAS 12
[ —A— Pythia 6.428 370 1%
---&-- Pythia 6.428 371 s
= - ¥- Pythia 6.428 372 ==
~ - - Pythia 6.428 376 58
)
B 3
— 1<
(&)
= SR A I =
— -2
1
—0.5
1 " | " 1 1 1 1 " | " 1 1 " 1 1 " | " 1 1 " 1 1 " |
500 1000 1500 2000

pt" [Gev], p‘f"”“} in [40,150] [GeV]



	Contents
	Page 1


